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Plot [’ ECopt’]

3500 -

3000 -

2500

2000

1500 ~

1000

500 -

0 25 50 75 100 125 150 175 200



Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Warning: col ['VI _pcterr’] missing
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forEQ4AW_W2
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EQ4AW

BYiE) | BRI (F)) | S (EAH/HR) | EBBREE (B/R) | X8 SRR

06:35 103 70.0 1.225 FA| FhHA@06:35 KENFEF (KRFATRELES)
07:55 103 70.0 1.225 FB| FiHA@07:55 KREFEF (KAFEHE)
09:50 103 70.0 1.225 FA| FiHA@09:50 KENFEF (KRFTERES)
11:15 103 70.0 1.225 PA| ThHAe11:15 RHMIEF CRAMLER)
12:35 103 70.0 1.225 FA| FnHRe12:35 REFEF (REAERES)
13:55 103 70.0 1.225 FA| FiHAe13:55 KEiEF (KRAERESS)
15:25 103 70.0 1.225 FA| FHA@15:25 KEFEF (KRS
23| 721.0 (TR) 490. 0 ZHKEC: 2280.0, PH: 6.2

RMERERIEC (2032.0) 5FMEC (2500.0) REK K, FRET




FRV (ml plant-1)

ET (ml/hr/plant)

EQ4AW_W2, Day=9 (2025-06-01)
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EQ4AW

BYiE) | GEEBERTIC (RD) | EBE (BAH/FK) | BBREE (BF/R) | X8 ERF

06:20 40 50.0 0. 875 FA| {RRi%&@06:20 Fz (FKPAEEE)
07:20 40 50.0 0.875 FH| 1BRi%@07:20 F3h (KABEREE)
09:05 40 50.0 0.875 FE| 1BRi%@09:05 F3h (kPBEREE)
11:30 40 50.0 0.875 FH| 1Bi&e11:30 Fzh (KAEREE)
2it| 160.0 (4%) 200.0 3EUHKEC: 2000.0, PH: 5.8

LR EHC R IR ALFZ I (40 vs 70.0))

ZRIASCPRIERE28. 0 ml.

large discrepency for begining water status (99:297.0), set to 99 ml.
REFEBIEC (1948.0) 5FMEC (2460.0) HEK K, BFRE
ERGEBIPH (5.3) 5i&%EE (6.2) RERK, FRE.




EQ4AW W2, Day=8 (2025-05-31)

------------------------------------------------------------------------------------- L 300
VI, VO, ,ET = VI,V0, FVI, EVO, FRV, ad jFRV, ET
40 - ~
19 T
160 171F 200 lf
20 - 110 E
0 8%4f 100z
Warning: lcol [FVI',| "FVO’'] missing 32 II
0 1 0
v —— Mw P30.0
*Té 307 FRV maxM | o
2 0l il | =
20 i i i - 25.0 |
£
= 10 &= s L 22.5
¥ .|
i L 20.0
1.0
"
0.8
0.6 -
0.4
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
2600 4 T4 getEC=2400. 0, | TargetSetEC=2000. 0 —>—  EcBx10%
o ECC
2400 - HH—————X
2200 - °
2000 o e e e e e . 4+ ]
[ )
TargetPH=6.5, TargetSetPH=5.8 —¢  PHB*10%
6.5 ® PHC
e
6.0
______________________________ .——___________________________________________________.
5.5 1
[ )
| 600
= Byln |:t @D9 01:34: ET=335 Fg=360.0 Ro=11.0 =
S 100 - : s
N : 400 &
£ i E
E 50 1 - 200
— | §
w = : o
05T 1L 2 3 4 5 6 7 8 9 10 11 12113 4] 6] 171819271 2]2]23L°
- 600
o FA [A A FA FA [A A FA FA [A A FA FA 55 55 [§5] 55 [A 55 [§5] 55 [A A FA o~
c 1 c
2100 4 ByEt @D8 19:02: ET=280 Fg=84.0 Ro=nan i _400-2
2 ! <
< £
S ¢ e —eo—eo—o =
. M | r 200 &g
L ——o—¢@ F‘M\./. e © e & 4 e e e o 5
0 PO t/.——r—/ I 0
0 1 2 3 4 5 6 7 8 9 [ 10 [ 11 [ 12 [ 13 [ 14 15 [ 16 [ 17 [ 18 | 19 | 20 | 21 | 22 | 23 | g0o
o~ FA [A A FA FA [A A FA FH BH [A FH BH | X/ |/vm |/ | FA BH |v@m|/)@m|&B=| FA GHEES o~
c 1 c
= 100 1 ByMoF @D9 01:34: ET=171 Fg=200.0 Ro=5.0 400
2 ! <
£ i E
E 50 1 - 200
— | §
w = : o
0 5 PN 1'—f 0
08l M [A A FA FA [A A FA FH BH [A FH BH | X/ |/vm |/ | FA BH |v@m|/)@m|&B=| FA GHEES
0.6 -
0.4
0.2 A
0.0
—_— 4
400 ~ [ J | _obs
—@— PPFD obs
200 A
0 \"2 Vv
30 - ; A
o T obs
25 1 ([ ] To_obs
20 A
15
4
80 - ‘
60 - RH
[ ] RH_obs
(] RHo_obs
40 -
M e v f




20. 8 —— MW
20. 6
20. 4
20. 2
20.0
560 5%0 660 6%0

m

20.

20.

20.

20.

20.

20.

20.

m=500, FV0=0

40 ~

35

30 -

25 A

20 -

15 +

10

-o— MW

500

T
505

510

20.

20.

20.

20.

20.

20.

20.

m=520, FV0=0

60

55 A

50 -

45 -

40 -

35 A

30 A

-o— MW

20.

20.

20.

20.

20.

20.

20.

T T T T T T
520.0 522.5 525.0 527.5 530.0 532.5

m

m=640, FV0=0

80

75 A

70 -

65

60 -

55 -

50 A

—0—

M_w

T
640

T
645

650




100

6:35
80

7:35
60

E 10:00
40

11:50
20

13:20
-0

&




EQ4AW

Ffig) | JEBIATHC (FD) | ERE (BH/) | BEREE(B/R) | XS EFE

06:35 60 50. 0 0.875 FA| 1Bi%@06:35 Fzh (KAEREEE)
07:35 60 50. 0 0.875 FA| {Ri&e07:35 Fz (kAEEE)
10:00 60 50.0 0.875 FA| 1E2i1&@10:00 Fzh (RFATREE)
11:50 60 50.0 0.875 FE| 1BRi%@11:50 Fz1 (kPBERSE)
13:20 60 50.0 0. 875 FH| 1Ri%@13:20 F31 (REBERSE)
2it| 300.0 (5)%) 250.0 3EUHKEC: 2000.0, PH: 5.9

EREBEHCRIRAREZ I (50 vs 70.0))

ZRIASCPRIERES6. 0 ml.

large discrepency for begining water status (91:296.0), set to 91 ml.
REXEEBIEC (1976.0) 5FMEC (2513.0) REKR KA, HFHE




EQ4AW_W2, Day=7 (2025-05-30)
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EQ4AW

Ffig) | JEBIATHC (FD) | ERE (BH/) | BEREE(B/R) | XS EFE

08:40 60 50.0 0.875 BE| 1BRi%e08:40 Fzh (KRR
10:05 60 50.0 0.875 (& =| 1Ri%e10:05 Fzh (REEESE)
11:50 60 50.0 0.875 |Z=| {Ri&e11:50 Fz1 (KREEZEHE)
13:15 60 50.0 0.875 S| 1Ri%e13:15 Fzh (GGREAERESE)
14:35 60 50.0 0. 875 el Rige14:35 Fz (REAEHE)
2it| 300.0 (5)%) 250.0 3EUHKEC: 1920.0, PH: 6.1

EREBEHCRIRAREZ I (60 vs 70.0))

ZRIASCRRIERE43. 0 ml.

large discrepency for begining water status (35:291.0), set to 35 ml.
REXEEBIEC (1909.0) 5FMEC (3037.0) RMEKR K, HFHE
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EQ4AW

RyiE) | EBIATK (FD) | ERE (EA/4) | EBREE (B/R) [XKS AR

07:55 60 40.0 0.7 RS {Ri&e07:55 Fzh (REEHSE)
09:10 60 40.0 0.7 S| 1Ri&Ze09:10 F3h (KREERE)
10:40 60 40.0 0.7 | | {Ri8e10:40 F3 (KAZERSE)
11:55 60 40.0 0.7 B 1Rige11:55 Fzh (REEESE)
13:00 60 40.0 0.7 RS Ri%@13:00 Fzi (KREAERESR)
14:05 60 40.0 0.7 | Ri%@14:05 Fz1 (REEESE)
15:15 60 40.0 0.7 B 1Rige15:15 Fzh (REEESE)
21t 420.0 (7R) 280.0 EHKEC: 1920.0, PH: 6.2

large discrepency for begining water status (42:279.0), set to 42 ml.
REREEBIEC (2002.0) 5FMEC (3690.0) REKK, HHE
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